SPECIFICATION SHEET USABAND

“Over 60 years of American Quality”

REF:
USABAND BOLT/CLAMP P%%FSBILLO
FOR 3/4” BAND (812206)
S &
ITEM PART NO. DESCRIPTION COAT OTY
812504 BOLT/CLAMP KIT FOR 3/4” BAND
1 US-8200 B/C RETAINER, ALUM FOR 3/4” BAND ALO 2
2 FS-2119-GLV CARRIAGE BOLT 3/8” -16 X6, GR 5 3 1/2” THREAD GLV 1
3 FS-1003-GLV HEX NUT 3/8” <16 oo, GLV 1
4 FS-4100-GLV FLATWASHER, 3/8” o oooeeiieeeeeeeeeeeeeeeeeeeeeeeee, GLV 1

352-465-1074

877-760-3130 Fax 4
mshinn@usaband.com

www.usaband.com “Over 60 years of American Quality”



